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Aufgabe 10.1

(a) 3−4 =
1

34
=

1

81

(b) 2−5 =
1

25
=

1

32

Aufgabe 10.2

(a) 3−3 =
1

33
=

1

27

(b) 2−4 =
1

24
=

1

16

Aufgabe 10.3

(a) (−2)−3 =
1

(−2)3
=

1

−8
= −1

8

(b) (−3)−5 =
1

(−3)5
=

1

−243
= − 1

243

Aufgabe 10.4

(a) (−2)−10 =
1

(−2)10
=

1

1024

(b) (−10)−2 =
1

(−10)2
=

1

100

Aufgabe 10.5

(a) 2−8 =
1

28
=

1

256

(b) (−5)−4 =
1

(−5)4
=

1

625

Aufgabe 10.6

(a)

(
1

3

)−2

=

(
3

1

)2

= 32 = 9

(b)

(
1

7

)−3

=

(
7

1

)3

= 73 = 343

1



Aufgabe 10.7

(a)

(
−2

3

)−4

=

(
−3

2

)4

=
81

16

(b)

(
−14

11

)−2

=

(
−11

14

)2

=
112

142
=

121

196

Aufgabe 10.8

(a)

(
−5

6

)−3

=

(
−6

5

)3

= −216

125

(b)

(
−14

11

)−1

=

(
−11

14

)1

= −11

14

Aufgabe 10.9

(a) 0.25−1 =

(
1

4

)−1

=

(
4

1

)1

= 4

(b) 0.5−2 =

(
1

2

)−2

= 22 = 4

Aufgabe 10.10

(a) 0.4−3 =

(
2

5

)−3

=

(
5

2

)3

=
125

8

(b) 0.125−2 =

(
1

8

)−2

=

(
8

1

)2

= 64

Aufgabe 10.11

(a) (−1.5)−2 =

(
−3

2

)−2

=

(
−2

3

)2

=
4

9

(b) (−0.8)−4 =

(
−4

5

)−4

=

(
−5

4

)4

=

(
5

4

)4

=
625

256

Aufgabe 10.12

(a) (−4.5)−1 =

(
−9

2

)−1

=

(
−2

9

)1

= −2

9

(b) (−1.25)−2 =

(
−5

4

)−2

=

(
−4

5

)2

=

(
4

5

)2

=
16

25
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Aufgabe 10.13

(a) 40 = 1

(b) (−2)0 = 1

Aufgabe 10.14

(a)
1

729
=

1

36
= 3−6

(b)
1

125
=

1

53
= 5−3

Aufgabe 10.15

(a)
1

256
=

1

28
= 2−8

(b)
1

343
=

1

73
= 7−3

Aufgabe 10.16

(a)
1

1024
=

1

210
= 2−10

(b)
1

27
=

1

33
= 3−3

Aufgabe 10.17

(a) 0.0001 =
1

1000
=

1

104
= 10−4

(b) 0.125 =
125

1000
=

53

103
=

(
5

10

)3

=

(
10

5

)−3

= 2−3

Aufgabe 10.18

(a) 0.00032 =
32

100 000
=

25

105
=

(
2

10

)5

=

(
10

2

)−5

= 5−5

(b) 0.008 =
8

1000
=

23

103
=

(
2

10

)3

=

(
10

2

)−3

= 5−3
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